Exercises .10 Solutions to se\ecked ?mb[‘@“’\S
@ r = radius
A = frea

Know db - ©.01 CW/VV\fV\,
At

Want to {-{nol 0&: w\:\w Y = 50 Cwa,
o

W
okt

= Stavt with relation between r and A .

5o, we need to find relation between éﬁ A

prea Formula Az Tyl

R

Thw Ditberemtiate beth stdes with respect fo +
e gt Ak o rogr dv

t ¥
df - 9wy dv
At adt

Plug-in i_\‘_j( Dol awd V¥ = 50 cm, we Je

dk _ aw (50 (9.01)
o

CID[ O_kfv & T OW/W\M
ot
X 3 Cm [ min

As



@ (0\) X = Ci(S'\‘o\hce from *H’\E@DFV\E/( ‘o tThe ‘00158

%o n thig case, We have that

olv( = the speed ot which e base iy mov, ng
away Fem Hhe corver,

"\__9. -~ e gpeeo\ ot which the ‘H)P 'S mcv?mg O{OWVL

ot

NN dr _ 5 f4 [sec .
o

Work to Bind A whew X7 12 FY.

;"3
( Note fhort ~hew X =12, We b JmE | )

2

d
Go, w& INQ need to Lind yelatiowv betweeu le b Ji.

> Gravt with relaton betweem  x awnd 3—

Pﬂ“{’hagoreav\ hedve Xi‘\‘ Ml - \3?_
Thom hidberemtiate bhotn sides with reg%ec} o t
Ax 4+ ou dY _~
we o et gr B 4 4% 92 .
9 el 3 = =0
x AF oA Y N
4P =0

P'\U\q-?“‘ ‘ (\').) (5) 2 (5—) 0\2 = D
oAt

A - D0 | 9 £ fsec
o 3




?)01" x = distonce from the Chadow f& the
d\-o‘?{)fﬂg ?ofnt
il Yy = height of ball
Nove ‘H(\o\'& L 50 - S
Yih) = 50~ 164"

oAl . - gad
2o i K dy
Know %13 ) U\;quﬂ to ﬁ.‘m{ Ul__)‘ atter 32 $ecomd.
J‘ At

(‘ After l’i ‘5600de Hi 90 - lb(,—‘L)Q= b . )

From similar rionales | e have

50 3"
l;i o = B

20 + X y 304X 50
. X_“VT\““\ sox = 309 txY
;(;X " 6o \ Ditf oremiiate both Sodes with respect o
‘ - , A x 4y d.Y d %
When Y=, we get SRt . Bp XA gyl
Y ot T X Ak
D €K 50 A-t ‘t:"-ll, r We lﬂa\,e 8 - "f"o, 0!__% - = b
o
o ® and X = 35
A 25 ’_:7 .
25x = ®10 +23% P[u A By | 5
2x = 0 ] fa 30(-16) T 345 (-14) + “w
x = 2345 ft .
_— AX = 375(-1p)
e dt
Ay _ _ 500 Ft/Sec

ok



